EXPLODED VIEW

UBZ-LHG8

mooOw>

M2 x 4.5

: N09-2291-05

: N14-0565-15

M2 x4
M2 x 10 BLK :
M2 x3

: N30-2004-46

N80-2010-45

: E39-2030-46

Parts with the exploded numbers larger than 700 are not supplied.

13



